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 1. : 
 2. :
 3. :
 4. :
 5. :
 6. : 

 1. Fw  = 641.01 m²
 2. Ff  = 60.35 m²
 3. 
    Fd  = 212.07 m²
 4. Fg  = 211.40 m²
 5. Fdl = 0.00 m²
 6. Fab = 0.00 m²
 7. F=Fw+Ff+Fd+Fg+Fdl+Fab = 1124.83 m²
 8. V   = 1200.00 m³
 9. F/V = 0.94 m-1

=  0.689 Kcal/m²hc

    F/v   
    m-1   

    0.2   1.335   1.015   0.807
    0.3   1.245   0.955   0.760
    0.4   1.160   0.897   0.715
    0.5   1.092   0.845   0.675
    0.6   1.030   0.795   0.635
    0.7   0.985   0.750   0.600
    0.8   0.947   0.717   0.575
    0.9   0.927   0.695   0.550
    1.0   0.920   0.680   0.530
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:  
:

                                 kg/m³    m            Kcal/mhc m²hc/Kcal

 1 1900    .02         0.750    0.027
 2 1200   1.20         0.450    2.667
  2.693

2.693

1/ai =  m² hc/Kcal        1             1               1
                    k=       =                     =         = 0.371 Kcal/m² hc
1/aa =  m² hc/Kcal       1/k     1/ai + + 1/aa     2.693
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:  
:

                                 kg/m³    m            Kcal/mhc m²hc/Kcal

 1 1900   0.02         0.750    0.027
 2 1200    0.7         0.450    1.556
  1.582

1.582

1/ai =  m² hc/Kcal        1             1               1
                    k=       =                     =         = 0.632 Kcal/m² hc
1/aa =  m² hc/Kcal       1/k     1/ai + + 1/aa     1.582
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:  
:  

                                 kg/m³    m            Kcal/mhc m²hc/Kcal

 1 0.020         3.000    0.007
 2 2400    0.2         1.750    0.114
 3 0.020         0.750    0.027
 4 0.100         0.550    0.182
  0.329

0.329

1/ai = 0.2 m² hc/Kcal     1             1               1
                    k=       =                     =         = 1.889 Kcal/m² hc
1/aa = 0.00 m² hc/Kcal   1/k     1/ai + + 1/aa     0.529
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:  
:  

                                 kg/m³    m            Kcal/mhc m²hc/Kcal

 1 1900  0.020         0.750    0.027
 2 2400  0.140         1.750    0.080
 3 1050  0.010         0.150    0.067
 4 1500  0.070         0.550    0.127
  0.301

0.301

1/ai = 0.14 m² hc/Kcal    1             1               1
                    k=       =                     =         = 2.038 Kcal/m² hc
1/aa = 0.05 m² hc/Kcal   1/k     1/ai + + 1/aa     0.491
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371 12.73  4.00     1  50.92 10.35 40.57 15.05

40.57 15.05
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32

10.35  46.58
           KF = 4.50

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371  4.47  4.00     1  17.88       17.88  6.63

17.88  6.63
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

0.00   0.00
           KF =

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  3  0.632  4.59  4.00     1  18.36       18.36 11.60

18.36 11.60
           KW = 0.63
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

0.00   0.00
           KF =

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  3  0.632  8.18  4.00     1  32.72       32.72 20.68

32.72 20.68
           KW = 0.63
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

0.00   0.00
           KF =

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  3  0.632  6.89  4.00     1  27.56       27.56 17.42

27.56 17.42
           KW = 0.63
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

0.00   0.00
           KF =

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371 11.84  4.00     1  47.36 8.280 39.08 14.50

39.08 14.50
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32

8.28  37.26
           KF = 4.50

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371 12.97  4.00     1  51.88 11.80 40.08 14.87

40.08 14.87
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.60  2.20     1   3.52  15.84
  1       4.5    1.15  1.80     1   2.07   9.32
  1       4.5    1.15  1.80     1   2.07   9.32

11.80  53.10
           KF = 4.50

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371 12.73  9.00     1  114.6 7.040 107.6 39.92

107.60 39.92
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92

7.04  31.68
           KF = 4.50

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371 12.97  9.00     1  116.7 7.040 109.7 40.70

109.70 40.70
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92

7.04  31.68
           KF = 4.50

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371 11.84  9.00     1  106.6 7.040 99.56 36.94

99.56 36.94
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92

7.04  31.68
           KF = 4.50

.
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                              kcal/m²hc                 (m²)  (m²)   (m²)
  2  0.371 12.97  9.00     1  116.7 8.800 107.9 40.03

107.90 40.03
           KW = 0.37
  

K     

        Kcal/m²hc  (m)  (m)           (m²)

  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92
  1       4.5    0.80  2.20     1   1.76   7.92

8.80  39.60
           KF = 4.50

.
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   =  ------------------------------  <= 1.6  Kcal/m²hc
                                 
       1             2             3              4               5=(3X4)

   KF
   F          
                                 (m²)         (Kcal/m²hc)        (kcal/hc)

                    W 1           40.57          0.371            15.050
    W 2           17.88          0.371             6.633
                    W 3           18.36          0.632            11.600
                    W 4           32.72          0.632            20.680
                    W 5           27.56          0.632            17.420
                    W 6           39.08          0.371            14.500
                    W 7           40.08          0.371            14.870

                    F 1           10.35          4.500            46.575
    F 2            0.00                            0.000
                    F 3            0.00                            0.000
                    F 4            0.00                            0.000
                    F 5            0.00                            0.000
                    F 6            8.28          4.500            37.260
                    F 7           11.80          4.500            53.100

                             246.6                      237.68
                      

  

.
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   =  ------------------------------  <= 1.6  Kcal/m²hc
                                 
       1             2             3              4               5=(3X4)

   KF
   F          
                                 (m²)         (Kcal/m²hc)        (kcal/hc)

                    W 1          107.60          0.371            39.920
    W 2          109.70          0.371            40.700
                    W 3           99.56          0.371            36.940
                    W 4          107.90          0.371            40.030

                    F 1            7.04          4.500            31.680
    F 2            7.04          4.500            31.680
                    F 3            7.04          4.500            31.680
                    F 4            8.80          4.500            39.600

                             454.6                      292.23
                      

  

.
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                   ----------------  <= 1.6  kcal/m²hc
                     
   1          2              3                 4            5        6(3x4)

  
                        F         FK

                                             Kcal/m²hc       m²       Kcal/hc

  0.00       0.00
                             Km(A,B)=FK/F=
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    kcal/m²hc
       1               2            3          4             5      6=(3x4x5)

                                KXF
    F      
                                    m²     kcal/m²hc                 kcal/hc

246.68       0.964         1.0     237.688
454.68       0.643         1.0     292.230

211.40       1.889        1.0      399.300
165.10       2.038        1.0      336.500

46.97       2.038        1.0       95.720

1124.83                            1361.438
                             Km = FK/F = 1.210  >  0.689  kcal/m²hc
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